FUE N P R F N F BT D BRI (26 )

ER27TEIA R
4B |58 | 6B | 7B [ 8B | 9B |10A|118[12B| 1B | 2B | 38 |EE:&t
= HEZBNE| 100H5kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= ZEF| AR % 00o[ oo ool o0 o00] oo ool oo oo oo oo o0 0.0
05 fas FHEEE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
Bl ES % 00/ 00| 00 ool oo oo o00] 00/ 00 00 00 00 0.0
34 FEEAHZ| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= Bl ES % 00/ 00| oo ool oo oo o00] 00/ 00 00 o00f 00 0.0
454 #EEHE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= RlEFI A E % 00/ oo o0o] 00 oo o0o] o0 oo o0o] 00 o00f o0 0.0
5E FEEAHZ| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= Bt ES % 00/ 00| oo ool oo oo o00] 00/ 00 00 o00f 00 0.0
= #EEHE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= BB R E % 00/ oo o0o] 00 o0 o0o] o0 oo o00o] 00 o00f o0 0.0
72 1 FEEHE| 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
= ERAER| R % 00/ 0o o0o] o0/ o0o0f o00o] o0/ o00f o00o] 00 o00f o0 0.0
Bat FEENH=[ 1005kWh 0 0 0 0 0 0 0 0 0 0 0 0 0
S B TES % 00/ o0of o0o] o0 o0o0f o0o] 00 o00f o00o] 00 o00f o0 0.0
E1) REFAE(%)=REEH=E / (HH xEEREZE) x 100
E2) MERAAOBEBRTEILEHLHWNMGELHYET,
(1005 kWh) =T 4 =
5,000
4,000
3,000 -
2,000 -
1,000 +
0 | | | | | | | | | |
4 5H ©6R 7R 8AHA 98 10R 11RH 12HA 1A 2R 3A
100.0
900 |
800 |
70.0
60.0
500 |
40.0
30.0
200
100
00 —m 0 0 0 0 0 0 O 0 0 il
4 AH 54 6 A 7H 8H 9H 10R 11HA 12A 1H 2A 3AH




